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1. Find the value of a,b,c and d from equation :

Watch Video Solution

[
a − b 2a + c

2a − b 3c + d
] = [

−1 5

0 13
]

2. Given  and , Find A-B.

Watch Video Solution

A = [
1/2 4

2 3/2
] B = [

5/2 4

1 1/2
]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bpPrLMUyydUg
https://dl.doubtnut.com/l/_V6xwpTXOsMY0


3. Given  and , Find A-B.

Watch Video Solution

A = [
5/2 4

6 3/2
] B = [

1/2 2

4 1/2
]

4. If, ,then is ?

Watch Video Solution

A =
⎡
⎢
⎣

1 1 2

0 −3 5

−2 3 4

⎤
⎥
⎦

4A =
⎡
⎢
⎣

4 4 8

0 −12 20

−8 12 16

⎤
⎥
⎦

5. If ,A = ,then -3A=

Watch Video Solution

[
1 2

−2 4
] [

−3 −6

6 −12
]

6. Given  and , Find AB.

Watch Video Solution

A = [
1 4

2 3
]

2 × 2

B = [
1 4 2

2 3 0
]

2 × 3

https://dl.doubtnut.com/l/_R0DScfty9OK7
https://dl.doubtnut.com/l/_4G8FEJNcsAFX
https://dl.doubtnut.com/l/_K74sD1kNbMyd
https://dl.doubtnut.com/l/_lF8hBJzMWbVS


7. If  and then show 

Watch Video Solution

A = [
1 0

0 3
] B = [

2 0

0 1
] AB = BA = [

2 0

0 3
]

8. If  and  then 

Watch Video Solution

A = [
0 2

0 3
] B = [

2 5

0 0
] AB = [

0 0

0 0
]

9. If  then 

Watch Video Solution

A = [
1 2 5

2 4 8
]

2 × 3

A' = AT =
⎡
⎢
⎣

1 2

2 4

5 8

⎤
⎥
⎦

3 × 2

10. Show that  is a symmetric matrix as .

Watch Video Solution

A =
⎡
⎢
⎣

1 5 6

5 2 7

6 7 3

⎤
⎥
⎦

AT = A

https://dl.doubtnut.com/l/_tbgZJ8mc1Bin
https://dl.doubtnut.com/l/_EtIAkTE56J5e
https://dl.doubtnut.com/l/_7EiJ38YjfOuY
https://dl.doubtnut.com/l/_qG37dS0HKOPQ
https://dl.doubtnut.com/l/_SYjbbmvUpCPA


11. Prove that  is a skew symmetric matrix as 

.

Watch Video Solution

A =
⎡
⎢
⎣

0 1 2

−1 0 3

−2 −3 0

⎤
⎥
⎦

AT = − A

12. Express the matrix  as the sum of a symmetric and a skew

symmetric matrix.

Watch Video Solution

[
3 5

1 −1
]

13. If A is a matrix of order and B is a matrix of order  then

what will be the order of the matrix AB and BA ?

Watch Video Solution

3 × 7 7 × 3

https://dl.doubtnut.com/l/_SYjbbmvUpCPA
https://dl.doubtnut.com/l/_w3a0qXj9Hyys
https://dl.doubtnut.com/l/_f7eA2XWKrl5C


14. Given that,  then find the values:

Where  denote the corresponding elements of the matrix A.

Watch Video Solution

A = (aij)3 × 3 =
⎡
⎢
⎣

1 6 −1

5 2 7

1 3 −5

⎤
⎥
⎦

3 × 3

a

a31 + a23 + a33

15. Given that,  then find the values:

Where a denote the corresponding elements of the matrix A.

Watch Video Solution

A = (aij)
3 × 3

=
⎡
⎢
⎣

1 6 −1

5 2 7

1 3 −5

⎤
⎥
⎦

3 × 3

a21 + a11
3

2

1

2

16. Given that,A=(aij)_(3xx3) =[(1,6,-1),(5,2,7),(1,3,-5)]_(3xx3)

2a_13a_21 +7 a_12 a-22`

View Text Solution

thenf ∈ dthevalues :Whereade¬ethec or respond ∈ ge ≤ mentsofthem

https://dl.doubtnut.com/l/_xn2hScPBaZiw
https://dl.doubtnut.com/l/_gAYNPJVr0kcL
https://dl.doubtnut.com/l/_OPcBeezVWT4Y


17. If  and  then find the values 2A+5B

Watch Video Solution

A = [
1 −1

2 5
] B = [

−2 2

3 1
]

18. If  and  then find the values 

Watch Video Solution

A = [
1 −1

2 5
] B = [

−2 2

3 1
] A2 − 2B−

19. If  and  then find the values BA+2l,

where l is the identity matrix.

Watch Video Solution

A = [
1 −1

2 5
] B = [

−2 2

3 1
]

20. If  and  Find AB.

Watch Video Solution

A = [
2 −1

3 2
]

2X2

B = [
1 −1

2 1
]

2 × 2

]

https://dl.doubtnut.com/l/_OPcBeezVWT4Y
https://dl.doubtnut.com/l/_tLUIg1Q3zkf5
https://dl.doubtnut.com/l/_qNoRD8Jn3cAM
https://dl.doubtnut.com/l/_HlUCFS1E1zwZ
https://dl.doubtnut.com/l/_vN8zAXb4apYK


21. In the matrix A= ,write the order of the matrix

Watch Video Solution

[
2 −1 3

4 6 1
]

22. In the matrix A= ,write the elements, what are the

possible orders it can have?

Watch Video Solution

[
2 −1 3

4 6 1
]

23. If a matrix has 12 elements, what are the possible order in can have ?

Watch Video Solution

24. Construct a  matrix A whose elements are given by 

Watch Video Solution

2 × 2 aij = 2i + j

https://dl.doubtnut.com/l/_GcbmDgjqW02k
https://dl.doubtnut.com/l/_MH7wHJxqbymX
https://dl.doubtnut.com/l/_gNr9Z2EezCid
https://dl.doubtnut.com/l/_IXdCQODfKnNB


25. Construct a  matrix A whose elements are given by 

Watch Video Solution

2 × 2

aij = (i − 2j)21

2

26. Construct a  matrix A whose elements are given by 

Watch Video Solution

2 × 2

aij = | − 3i + j|
1

2

27. If , Find the values of a and b.

Watch Video Solution

[
a + b 2

5 ab
] = [

6 2

5 8
]

28. Find x,y,a and b if .

Watch Video Solution

[
2x + 3y a + b 8

1 4x + y 3a − 4b
] = [

7 1 8

1 9 10
]

https://dl.doubtnut.com/l/_vKkv31UQ0gW0
https://dl.doubtnut.com/l/_05p7CnndklIg
https://dl.doubtnut.com/l/_V7QPUfwfMjWT
https://dl.doubtnut.com/l/_yquvSygTbXVH


29. Find the number of all possible matrices of order  with each

entry 0 and 1.

Watch Video Solution

3 × 3

30. Let,  Find each of the A+B

Watch Video Solution

A = [
2 4

3 2
], B = [

1 3

−2 5
], C[

−2 5

3 4
]

31. Let,  Find each of the 3A-C

Watch Video Solution

A = [
2 4

3 2
], B = [

1 3

−2 5
], C[

−2 5

3 4
]

32. Let,  Find AB

Watch Video Solution

A = [
2 4

3 2
], B = [

1 3

−2 5
], C[

−2 5

3 4
]

https://dl.doubtnut.com/l/_s08z8AY2UDCg
https://dl.doubtnut.com/l/_qfdXv54VTFkW
https://dl.doubtnut.com/l/_NFvsFATfn8o6
https://dl.doubtnut.com/l/_obfEBQDkI4gJ


33. Let,  Find BA

Watch Video Solution

A = [
2 4

3 2
], B = [

1 3

−2 5
], C[

−2 5

3 4
]

34. Find the product of 

Watch Video Solution

[
a b

−b a
][

a −b

b a
]

35. Find the product of 

Watch Video Solution

⎡
⎢
⎣

2 1

3 2

−1 1

⎤
⎥
⎦
[

1 0 1

−1 2 1
]

36. Find the product of 

Watch Video Solution

⎡
⎢
⎣

2 3 4

3 4 5

4 5 6

⎤
⎥
⎦

⎡
⎢
⎣

1 −3

0 2

3 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_vLyx6Hl7I9dJ
https://dl.doubtnut.com/l/_5g632UzSKZHw
https://dl.doubtnut.com/l/_0GY52Efx8DIK
https://dl.doubtnut.com/l/_dgU0hC1BmUkD
https://dl.doubtnut.com/l/_Sn13MDOkI9ef


37. Find X and Y ,if  and 

Watch Video Solution

X + Y = [
7 0

2 5
] X − Y = [

3 0

0 3
]

38. Find X and Y ,if  and 

Watch Video Solution

2X + 3Y = [
2 3

4 0
] 3X + 2Y = [

2 −2

−1 5
]

39. Find ,Â 2-5A+6l, if .

Watch Video Solution

A =
⎡
⎢
⎣

2 0 1

2 1 3

1 −1 0

⎤
⎥
⎦

40. Find the transpose of matrices 

Watch Video Solution

[
1 3 7

4 2 3
]

https://dl.doubtnut.com/l/_Sn13MDOkI9ef
https://dl.doubtnut.com/l/_fUoWCOzDQFUW
https://dl.doubtnut.com/l/_BJJdg2wd4deT
https://dl.doubtnut.com/l/_zRahHnhO98Hw


41. Find the transpose of matrices : 

Watch Video Solution

⎡
⎢
⎣

3

0

5

⎤
⎥
⎦

42. If  and ,then find .

Watch Video Solution

AT = [
−2 3

1 2
] B = [

−1 0

1 2
] (A + 2B)

T

43. Find the value of x if  where .

Watch Video Solution

A + AT = I, A = [
cos x −sinx

sinx cos x
]

44. If AB are symmetric matrices of same order then show that AB-BA is a

skew symmetric matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_AjFHlslzLm3T
https://dl.doubtnut.com/l/_3jAlf29Uh86q
https://dl.doubtnut.com/l/_8nIgdbPK5KbA
https://dl.doubtnut.com/l/_P4ClesEVlr3U
https://dl.doubtnut.com/l/_kvl1pxnuKHZW


45. Express matrices as the sum of a symmetric and skew symmetric

matrix 

Watch Video Solution

[
1 5

−1 2
]

46. Express matrices as the sum of a symmetric and skew symmetric

matrix 

Watch Video Solution

⎡
⎢
⎣

6 −2 2

−2 3 −1

2 −1 3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_kvl1pxnuKHZW
https://dl.doubtnut.com/l/_d9ofPncnd3QY

